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B.Com. /B.Com (CS) DEGREE EXAMINATION, APRIL 2016
II YEAR — IV SEMESTER
Paper IX — CORPORATE ACCOUNTING — II
Time : 3 hours	           Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)
Answer any TEN questions.
1. What do you mean by Human resource accounting?
2. What are accounting standards?
3. What is amalgamation?
4. Write short note on liquidation.
5. What are Fixed asset under AS- 10?
6. Calculate the net claims to be debited to revenue A/c of an Insurance company:
					                                                       	                        `
	Claims paid for the year ended 31.3.16			 					           	5,75,000
	Claims outstanding on 1.4.15        	                      55,000 
	Claims outstanding on 31.3.16	                            98,000       
7. A life assurance fund of ` 25,00,000 was ascertained without taking into account the following:
	Claims covered under re-insurance ` 18,000
	Reinsurance premium   							                   ` 15,000
	Calculate correct life assurance fund.
8. Calculate the rebate on bills discounted from the following information
	11th November 2015  ` 50,000 for 4 months @ 6% P.A. discounting rate.
9. Journalise the transfer of opening balance in the rebate A/c ` 3, 20,000.
10. Calculate purchase consideration from the following information:
	Shares issued for share holders of selling Co.        ` 2, 40,000
	Cash to be paid for share holders of  the selling Co. ` 40,000.
11.  Ascertain the remuneration payable to the liquidator from the following information:
	Secured creditor            ` 50,000 (Securities realized by secured creditors : ` 60,000)
	Assets realized              ` 80,000
	Liquidator’s remuneration: 3% on the amounts realized.
12. Calculate the amount paid to unsecured creditors:
				                                                                     `
	Unsecured creditors                                 15,432
	Amount paid to partly secured creditors   2,236
	Bank overdraft                                              232
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.
13. Describe the objectives of financial reporting.
14. Explain various methods of computing purchase consideration.
15. A company incurs the following expenditure during the year 2005-06. Determine the amount to be capitalized under AS- 10, Accounting for fixed assets.
                                               `
(a) Purchase of machinery    20,00,000
(b) Transportation cost            2,00,000
(c) Workshop erection             6,00,000.
 (
[P.T.O.]
)
16. The Life fund of a life insurance company on 31.3.2015  ` 54,00,000
	Ascertain the correct life fund balance from the following:
(a) Interest accrued on investment     20,000
(b) Reinsurance claim recoverable       7,000
(c) Bonus in reduction of premium      3,000.
17. The trial balance of the oxford Bank Ltd., as on 30th June 2014 shows the following balances:
	Interest and discount                                   45, 40,600
	Rebate on bills discounted (1.7.2013)                4,750
	Bills discounted and purchased                    3, 37,400
	The unexpired discount as on 30.6.2014 is estimated to be ` 5,560. Draft necessary adjusting entries.
18. Sunil Ltd. having a capital of ` 10,00,000 divided into 10,000 shares of ` 100 each (` 75 paid up) and a reserve fund of ` 2,50,000 was absorbed by National Co. Ltd. having a capital of ` 40,00,000 divided into 40,000 shares of ` 100 each (`60 Paid up) and a reserve fund of ` 16,00,000 on the terms that for every four shares in Sunil Ltd.; National Co. Ltd. was to give five shares partly paid as its original ones. 
	Prepare ledger accounts to close the books of Sunil Ltd. 
19. The following particulars relate to a company which went into voluntary liquidation:
	Preferential creditors      25,000
	Unsecured creditors        58,000
	6% debentures                30,000
	The assets realized ` 80,000. The expenses of liquidation amounted to ` 1,500 and the liquidators remuneration was agreed at 2.5% on the amount realized and 2% on the amount paid to unsecured creditors including preferential creditors.
	Show the liquidators final statement of account. 
SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions
20. 	From the following information prepare Company’s revenue a/c and its Balance sheet.
	
	` In ‘000

	Paid up share capital (1,00,00,000 shares of ` 10 each)
Life assurance fund on 1.4. 2015
Dividend paid
Bonus to policy holders
Premium received
Claims paid
Commission paid
Management expenses
Mortgages in India  
Interest & dividend received
Agents balances
Freehold premises
Investments
Loan on company’s policies
Cash on deposit
Cash in hand
Surrenders  
	 1,00,000
29,72,300
     15,000
     31,500
  1,01,500
  1,97,000
       9,300
     32,300
  4,92,200
  1,72,700
       9,300
     40,000
23,05,000
  1,73,000
    27,000
     7,300
     7,000


	Additional information:			          	         (` ‘000)
(a) Claims admitted but not paid   	  9,300
(b) Management expenses due 	          200
(c) Interest accrued	                        19,300
(d) Premiums outstanding	              12,000   
21. On 31st December 2015. The following balances stood in the books of Hindustan Bank Ltd. 
	
	` (in ‘000)

	Share capital
Reserve fund
Fixed deposits
Savings bank deposits
Current accounts
Money at call and short notice
Investments
Profit and Loss A/c
Dividend for 2014
Premises
Cash in hand
Cash with RBI
Cash with other banks
Bills discounted and purchased
Loans, cash credits and overdraft
Bills payable
Unclaimed dividend
Rebate on bills discounted
Short loans (borrowings from other banks)
Furniture
Other assets
Net profit for 2015
	4,000
6,200
     42,600
     19,000
23,200
  1,800
25,000
  1,350
    400
 2,950
   380
10,000
 6,000
 3,800
51,000
      70
     60
    50
4,750
1,164
   336
1,550


	Prepare balance sheet of bank as on 31st December 2015.
22. Mohan and hasan Ltd. have agreed to amalgamate. A new company Rajesh Ltd., has been formed to take over the combined concern as on 31st December 2015. After negotiations, the assets of the two companies have been agreed upon as shown below:
	Liabilities
	Mohan Ltd (`)
	Hasan Ltd. (`)
	Assets
	Mohan Ltd.
(`)
	Hasan Ltd. (`)

	Share capital:
Shares of ` 10 each.
Reserve fund
P&L A/c
Creditors
	

10,00,000
-
50,000
80,000

11,30,000
	

5,00,000
50,000
50,000
50,000

6,50,000
	Land & Buildings
Plant & Machinery
Goodwill
Furniture
Stock
Debtors
Bank

	5,00,000
2,00,000
-
1,10,000
1,50,000
1,20,000
50,000
11,30,000
	3,00,000
2,50,000
50,000
-
20,000
20,000
10,000
6,50,000


 (
[P.T.O.]
)	
	Prepare balance sheet of Rajesh Ltd., assuming
(a) The entire purchase price is paid off in the form of equity shares of ` 100 each in Rajesh Ltd.
(b) The amalgamation is in the nature of merger.
23. A Company went in to voluntary liquidation on 31.3.2014: when the following Balance Sheet was prepared:
	Liabilities
	`
	Assets
	`

	Authorized capital:
4,000 shares of `10 each
Issued capital:
3,000 shares of ` 10 each
Unsecured creditors
Partly secured creditors
Preferential creditors
Bank overdraft (unsecured)
	
40,000

30,000
15,432
  5,836
     810
     232
52,310
	Goodwill
Freehold premises
Machinery
Stock
Debtors
Cash
Profit & Loss A/c
	  6,960
  5,000
  7,480
11,710
  9,244
     100
11,816

52,310


	The liquidator realized the assets as follows:
	Freehold property which was used in the first instance to pay the partly secured creditors            Pro-rata  ` 3,600; Machinery ` 5,000; Stock ` 6,200; Debtors ` 8,700; Cash ` 100.
	The expenses of liquidation amounted to ` 100 and the liquidator’s remuneration was agreed at 2.5% on the amount realized including cash and 2% on the amount paid to unsecured creditors.
Prepare the liquidator’s final statement of account.


———————
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